
122006238-00-01.SLDASM    Revision 01

STS 200 - Stainless 
Static Separator

Spare parts list



DETAIL G  (1 : 2)

1.12

1.23

1.13

1.9.1

1.33

Pos. Pieces Part no. Notes
1.1 1   122006203
1.2 1   122006205
1.3 1   122006204
1.4 1   122006212
1.5 1   122006213
1.6 1   122006215
1.7 1   122006216
1.8 1   122006058 Complete screen

1.9.1 1     122006221
1.9.2 1     122006253
1.9.3 7     100350531 M8x20 DIN 7991
1.9.4 7     100350530 M8 DIN 985-6
1.9.5 1     122006255
1.10 1   122006228
1.11 1   122006229
1.12 2   122006230
1.13 4   122006231
1.14 2   122006232
1.15 4   122006235
1.16 1   122006236
1.17 2   122006198
1.18 10   122006112
1.19 1   122006233
1.22 1   122006234
1.23 93   100323386 M6x16 DIN 6921
1.24 88   100316075 M6 DIN 6923           100316094 = 1000 pcs.
1.25 12   100350039 M10x20 DIN 933 A2
1.26 12   100350068 Lock nut M10 DIN 985-6 A2
1.27 1   100350009 M8x20 A2
1.28 1   100350024 Washer M8 A2
1.29 1   100350001 Nut M8 DIN 934 A2
1.30 2   100306023 M8x60 DIN 931
1.31 2   100316003 M8 DIN 985-6
1.32 67   100334054 Popnitte SSD 54SSBS 4.0 x 10.2
1.33 2   100401093 61802 2RS1

DETAIL E  (1 : 4)

1.9.2

122006238-02-03    Revision 02

1.2

1.9.1
1.3

1.4

1.7

1.6

1.22

1.14

1.8

1.10

1.23
1.6

G

C

B

A

H

E

F

1.27

DETAIL B  (1 : 4)

1.11

1.28

1.29

1.9.2

DETAIL A  (1 : 3)

1.22

1.16

1.23

1.22

1.26

DETAIL C  (1 : 4)

1.18
1.30
1.31

1.17

1.25

1.3

DETAIL H  (1 : 2)

1.14

1.24

1.32

DETAIL D  (1 : 2)

1.5

1.1

DETAIL F  (1 : 4)

1.9.5

1.9.3
1.9.4

1.1

1.5

1.19

1.15

1.26
1.25

D



Kongskilde Industries A/S
Skælskørvej 64
DK - 4180 Sorø
Tel. +45 72 17 60 00 
mail@kongskilde-industries.com
www.kongskilde-industries.com

122 006 238	 You can always find the latest version of the manuals at	 01.05.2018
www.kongskilde-industries.com


